Mechanism to protect private network from
outside attack -

(A) Firewall

(B)  Antiviras

(C) Diagial signature

(D) Formatting

Which of the following is the system
software 7

(A) MSWord

(B  Computer

(C)  Antivirus

(D) None of these

In MS-Excul, SOR (x) finds ;
|A) Square of x
(B) 2 raised to power x

(C) Square root of x
(D) None of these

Every reconrd stored in a master file have a
Key Field because
(A) 1t is most tmportant field

(B) It acts as a unique identification of
records

(©) 1t s key 10 the Database
(D) It is very concise feld

Which of the following is Database

Management System?
(A) ORACLE (A) Stws® (ORACLE)
(B) MS-PowerPoint (B8) vRUR-TaTHR (MS-PowerPoint)
(C) MS-Excel (€) TAUR-TEEE (MS-Excel)
(D) MS-Word (D) TAUR-TE (MS-Word)
Which of the following is not s valld 6. TRTH -vem ¥ f= ¥ 3 e yfen
addressing in M5-Excel 7 (addressing) Wi il b
(A) Al (A) Al
(B) ALC3 (B) ALCH
(€ A-3D4 JCT A4
(D) AL D4 (D) AL D4
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7. Which of the following i1+ non-impact
printer ? ol
(A)  Datsy Whesl
(B) Dot matrix

MS-Access is software package for |

| (A) RDBMS
(8) Dustnibuted Database
(€} Obyest Onented Database

(D) Nome of these

are separate external files thay
are along with your e-mail message.
' (A} Attachments
(B) Option
(€) E-mail
(D) Parcels

10. When you are filling online form & dats are
“"'\—w-m‘n“ws

(A) '
(1] Dowulmdh'
(C) Navigstion
(D) Susfing

11, Which of the cables is used for
communication in LAN ¥
(A) Twisted pair
(8) Cowaxial
() Fitwe Optic
(D) All of the above

12.  Which of the following
about data 7

o (A) Daw Depository

(B) Data Warehouse
(€)  Data Minir
(D) Data Dictiar -

13.  What is the output of round(37544, 2) 7
(A) 37
(B) 373
(€) 317500
(D) 37000

stores information
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7. A2 HR-v (nonempacy T -
L1

AT T = (Dasy Wheel)
() TR AP (Dot )

- ol o Al

o = (bmml
8, THUR -USHE (MS-Access) 59 3501 =1
g S k)
(A) mt'uftng.m (RDBMS)
(8) Tmim Toew (Distributed Database)
“C] WSS TS TR (Object Oriented
Database)
(D) v 7 Wi 7
9. §-3= wtm % WY W= el e

@i
YA RTSEE (Attachmenms)
(B & (Option)
(C) -39 (E-mail)
(D) = (Parcels)
10, = s v sw e § siowe v d st
waiawmwm st

11, P Sl ables) FR¥R-F 5 LAN)
dFmE e ah )
(A) ZeE Wt (Twisted paly)
(B) WI-SWERER (Co-axial)
(C) TWIRT HT=EW (Fibre Optic)
oy i =

12 F=iwam § 8 1 n & o # mwen

{information) TW1 wm ¥ 7
(A) ¥ feqffad (Datas Depostiory)
{®) 1; FoTeeT (Data Warehouse)
<) ST (Data Maung)
BT &= =W (Data Dictionary)
13 round(3.7544, 2) ¥ WEER W b7
k] 37
(8 373
(€ 37500
(D) 3.7000




. Ky which mquire sther e pr
—_r v 1o be pressed

15,

16.

17.

19.

(A) Cui

(B)  Shif

(C) Al

(D) Al of the Above

Data 1tself is not useful unless «

(A] Tt is massive .

(B) It i processad to obtain information

(C) lmmllundfwmdmm
(D} It s properly stated

What is the full form of “NTES" 7

(A) New Type File System

(B} Never Terminated File System
(€} New Technology File System
(D) Non-Termunated File Systesn

Slu!tOFh;uaulm’oS-Emdm!wa:

[A)  Inserting & Image
(H) Inserting a Function
(€)  Inserting & Shoet
(D) None of the above

Which is an exampie of Optical Disk ?

(A} Hard disk
(B)  Floppy Disk
(€} RAM

(D) Compact Disk

the given formais ?

=[F (statement], statement2 statement’)
(A} In place of statementl

(B) In place of statetment?

(€} In place of statement3

(D) None of the above

W R ey
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17.

i
3
i
;;i;

=Wt T W S e
A Cil

BT Shift
(<) Al

WA NI w s e )
(A} 297 waw fo=3 (New Type File

System)
) inzﬁfihmhmwmm
Terminated File

System)
NETT [ IWEEtR TR fERR (New

_ Technology File System)
D) Aty wwm fmm=n (Non.
Ternunated File System)

TR TS 2010 (MS-Excel 2010) §
Shift « F3 fos ¥ fom woim wet #7

(A) T S (Image) D=2 ¥ fimy

(B) T& FHH (Function) T & g
(C) WF 2 (Sheet) == & S5y

URT awie 1 vy ol

18, mmmmuwmpunu)mw

T )

WA (condition) T wed §7

*IF (statement], statement2 statement3)
statement] ¥ 5w &

{B) statemen2 & ww 5§

{C) statement3 & o §

(D) =50 & 5 9 o o
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GUI 15 used as an it

(A)  Hardware and

% ;aw = L
' and User
(10)  Norwe of the above

™ pressed 10 rever the effect
of Undo
A) R4
B Crley
(C) Both (A) and {H)
(D) Nome of the above

Which of the following is not an expansion.

card ?

(A)  Gruphics card

{(B) Keyboard card

{C) Modem card

D) Network Interface a&

Which ol the following s used 4 recognize
character and symbaols ¥

(A) MICR

(8) OCR

(C) OMR

D) Al of the Above

Refresh rate i momitor can be messuse in

(A) Dots per inch
(B) Hertz

20. W= (CUI) FF+ o % smwes
(Interface) & 9 & Wi famm o & °
AT m ot ST (Hardware and

o bt = (\Lin and Machine]
<y M*M(&dm"ami
Ulser)

(D) == @ wif off o

WM B Undo Sfem & swm &
W T | A R

(A) F4 n

(B) Culey )

(€) (A ¥ (B) o9

T AWt o

22. = @9 @ o fer el fexpansion
.tgdlﬂf?
AT WIS STE (Graphics cand)
M whird R (Keyboar! card)
) tﬁhﬁ’mn‘dmnrdj
(D) FZ9% TIE T2 (Network Intesface
card)

23, B 4 & S 8 (character) W Siftet
(symbols) 3 == ¥ = vim fom ww #7
4K) wysmi= L (MICR)

() =|F o (OCK)
(€) U (OMR)
(D) weiven =

24. W 9§ B € (Refresh rate) fond @ o
k] ¥E 5 9 (Dots per inch)
{85 ¥ (Henz)
() e (Millimetres)
(D) R Py}

35, 53 B (Cache memony ) 55 fagie 52 %
w b
IA) T W R (Locality of data)
\ﬂ’ﬂﬁli’tmuﬂq‘dm)
(O o % w2 (Locality of reference)
(D) wed o T W AT (Locality of

reterence and data)
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26. Which u.mgmw“

ia/ are used for creating and editing wector
mages 7

(A) MS Paind

(B) Paintbrush . i
(C) Adobe |llustrator

(D)  All of the above

. Which of the following % mol &
M5-PowerPant Stide tramslation effect ?

(A) Wipe right

B Dissolve

(C) Wedge

() Flyin -

. Suppose there are 100 nodes connecte n
{A) 100

By 4650

(C) 4850

(D) 4950

. What is the full form of VRML 7

[A] Visual Reality Mark up language
(8] Virtual Reality Modeling language
(€)  Visually Real Mark up language

() Vistually Real Mark up Language

. Mark the most appropriale option

starernemd

() Mail Merge can be used 10 print the
form letters and maiimg labels

(€) Mail Merge can be ured to print
envelopes
All of the above

26, muspwmdgm-
' (vector images) ¥1 T3 3

WO (cditing) ® Taw e few/R

el e

(A) W&

5 B

. W2 (MS Pant)

| 1) '

. yed A wiE.w ww UR.EE. AWl

(MS PowerPoint) TaTT =T ¥5M
ettec)) TR £7

(A) WS T (Wipe night)

() T (Dusoive)

W TR (Wedge)

(D) WS (Fy In)

28, S e @ 2 (full mesh topology) ¥

100 9% (nodes) ¥ M
w1 wers o

(A) 100

5799 (links)

BT 4650

(C) 4850
(D) 4930

. RsmTmTE (VRML) W 0 AW k7

AT fenm frafseh wrk 59 WTE (Visual

Reality Mark up language)
(B) Wy frafeE] WA ST (Virtual

Reality Modeling language)

(C) i s o6 59 = (Visually Real
Mark up languags)

(D) wewesh fim =E 9 WS (Virtually
Real Mark up Language)

T e




31 In hard disk, the track 0 §s -
(A) The cutermost

(B) The innermost g .
(C} Totally dependent on machine
2. The computer device primarily used to
provide hardeopy is the
(A) CRT
(B) Printer
(€) Computer Comole
(D) Card reader
33. Which of the following type of channel
moves data relatively slowly ?

{A) Wideband channel
(8) Voxeband channel
(C) Narrowband channel
(D) Broadband channel

33. Computer cannot communicate with each
T oiber divectly over telephone Lies because
they use digital pulses whereas telephone
lines use analog sound frequencies. What is
the name of the device whach permits digital
to analog conversion at the start of a Jong
distance transmission’
(A) Interface
(B) Modem
(C)  Attenuation
D) Teleprocessor
35. Sometimes data are gathered over & period
of tme and collected into 3 group before
entening them into a computer for processing.
What type of processing is it called ?
(B)  Sequential processing
(€1 Batch processing
m.

ol _ =
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31

nEfemd =m0k,

(A) wwE g

(B) arm

(C) R W 5w % it

B R

32. W R fomm @ v 5= v A ek Wi

VI W N mame st b
(A) a2 (CRD
5% (Printer)
(C) WoZT ¥H™ (Computer Console)
(D) %7€ 37 (Card roader)

ﬁnﬁ!ﬁnm%iﬂiiﬂmwm
& W O b2

(A) Pzl T (Wideband channel)
(B) WwEdET F99 (Voicoband chanmel)
< ‘ﬂ‘lihﬂ(xmﬂndnuldnnuﬂ)
@& WE¥r 9 (Broadband channel)

TR T 2 A T O T & W
wun o w7 wed w9 ftres o W
I w0 § v e 3 and § o
wfa smyfi w2 3vdm o b o foas W
=0 & 9 e 0§ e S v fefem
T M # s T ke

(A) TR (Interface)
(B) TR (Modem)

B WS s sem iR

W w2 A w uwy w5 By W%
WA v sy b

(A) mm(mm,
(B) SRR SR Sequential processing)

Lo o wifiin (Barch peocessing)
' W VAT (Mults processing)
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4. Four altetnative stawers ace menuooed for
cach guestion as (A}, (W), (C) & (1) w the
booklet The candidate has 1o choose the
mont appropriste answer and mark the
same in the OMR Answer-Sheet 2 per 1he
direction - .

For Example -

Question :
1 @ 0 © ®
: @A ® @0 ©

lllegible answers with cutting and over-writing
will be cancelled.

3.  In case the Candidate does not fill the
appropriates circle in the Answer-Sheet
and baaves Bank “Zero' mark will be given.

6. The candidate has 10 mark carefully as per
ditection the answers on the
OMR Answer-Sheet with black or bhuw ball
point pen only.

The examinee shall hand over OMR
Answer-Sheet to the invigilator and can
take carbon copy of the OMR Answer-Sheet
and question booklet with himself.

-
»

5. Write your Roll Number and other required
details in the space provided on the tithe page
of the booklet and on the
OMR Answer-Sheet with ink pen or ball
pen Do not use lead pencil.

o, To bring and ok, calculator,
pgn&dﬂuhrp)mlnmmmmwl
s prohibwted.

10.  All the guestions are bilingual. Incase of any

discrepancy the question in English shall be
treated as correct
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7. wimgnd % s w9 R 9 WEE
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